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English Language

Direction:- Read each sentence to find out whether there is any error in it. The error, if any,
will be in one part of the sentence. Mark the part with the error as your answer. If there is no

error, mark "No Error” as your answer. (Ignore the errors of punctuation).

Question No. 1

Newborns in India have a least chance of survival than babies born in Afghanistan and Somalia.
Options :

1. newborns in India

2. have a least chance

3. of survival than babies

4. born in Afghanistan and Somalia.

5. None of these

Answer : have a least chance

Question No. 2

Scientists have created the world’s thinnest hologram that can be seen without 3D goggles and
may be integrated into everyday electronics such as smartphones, computers and TVs.
Options :

1. Scientists have created the world’s thinnest hologram

2. that can be seen without 3D goggles

3. and may be integrated into everyday electronics

4. such as smartphones, computers and TVs.

5. None of these

Answer : None of these
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Question No. 3

Its efficacy lies in how well it uses the powers it has, exercises the autonomy that it is able to carve
out for itself and resist government interference in its domain.

Options :

1. Its efficacy lies in

2. how well it uses the powers it has,

3. exercises the autonomy that it is able to carve out for itself

4. and resist government interference in its domain.

Image not found or type unknown

5. None of these

Answer : and resist government interference in its domain.

Question No. 4

She recorded the voices of men and women rarely given an opportunity to speak.
Options :

1. She recorded the voices

2. of men and women rarely

3. given an

4. opportunity for speak.

5. None of these

Answer : opportunity for speak.

Direction:- In each of the following sentences, there is a blank space, followed by some
choices of words given in options. You have to determine which of these words fits well in

both the sentences. If none of these words fits well, mark your answer as none of these.
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Question No. 5

Cold drink in a is better to carry than a bottle.
Seema is a strong girl. | think she __ do this task.
Options :

1. Could

2. Flask

3. Can

4. Share

5. None of these

Answer : Can

Question No. 6

We have to stay updated with the news while preparing for the exams.
We had a lot of difficulty while rafting, as the water was too heavy.
Options :

1. Flow

2. Stream

3. Modern

4. Current

5. None of these

Answer : Current

Question No. 7

We will have a lot of problem initially with the new and different of software.
The lady | met at the airport was very and sweet to me.

Options :

1. Type

2. Kind

3. Category

4. State

5. None of these

Answer : Kind
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Direction:- Read each sentence to find out whether there is any grammatical error in it. The
error, if any, will be in one part of the sentence. Mark the part with the error as your answer.

If there is no error, mark ‘No error’ as your answer. Ignore the errors of punctuation, if any.

Question No. 8

Some countries consider cryptocurrency as property (in the U.S) and people have to paid taxes on
possession of these.

Options :

1. Some countries consider

2. cryptocurrency as property (in the U.S)

3. and people have to paid

4. taxes on possession of these.

5. No error

Answer : and people have to paid

Question No. 9

Smith really came out an wizard in Edgebaston, with his bat swishing like a wand, dismissing
bowlers in his inimitable style.

Options :

1. Smith really came out an wizard in

2. Edgebaston, with his bat swishing

3. like a wand, dismissing

4. bowlers in his inimitable style.

5. No error

Answer : Smith really came out an wizard in
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Question No. 10

The only person who accompanies him these days is his domestic help who have been with him for
around a decade and assists him with daily house chores and takes care of his health.

Options :

1. The only person who accompanies him these days

2. is his domestic help who have been with him for

3. around a decade and assists him with daily house

4. chores and takes care of his health.

5. No error

Answer : is his domestic help who have been with him for

Question No. 11

To ensure minimum wages in Delhi, the state government ran a special campaign called Minimum
Wages from 10 days in December last year.

Options :

1. To ensure minimum wages in Delhi

2. the state government run a special campaign

3. called Minimum Wages

4. from 10 days in December last year.

5. No error

Answer : from 10 days in December last year.

Question No. 12

No matter how renowned a scientist is, emotions are also there, and perhaps he was live those
emotions for so long.

Options :

1. No matter how renowned a scientist

2. is, emotions are also there,

3. and perhaps he was live

4. those emotions for so long.

5. No error

Answer : and perhaps he was live
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Direction:- In each of the questions given below, four words are given in bold. These four
words may or may not be in their correct position. The sentence is then followed by options
with the correct combination of words that should replace each other in order to make the
sentence grammatically and contextually correct. Find the correct combination of words

that replace each other. If the sentence is correct as it is, select ‘E’ as your option.

Question No. 13

Facebook does governance (A) to make the Libra system "permissionless" - wherein anyone will
be able to create (B) Libra and take part in its plan (C) process simply by meeting the criteria
established by the core (D) members.

Options :

1. Both A-B & C-D

2. Only A-D

3. Only A-C

4. Both A-D & B-C

5. The sentence is correct

Answer : Only A-C

Question No. 14

Whether the Tatas showed personnel (A) corporate governance or not is separate from the
majority (B) of the owners of apreponderant right (C) in a company to formulate policy and appoint
exemplary (D) at the company.

Options :

1. Only A-C

2. Both A-D & B-C

3. Both A-C & B-D

4. Only A-B

5. The sentence is correct

Answer : Both A-D &; B-C
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Question No. 15

Lightfoot, who met with shooting (A) at the University of Chicago Hospital, anonymously (B)
those with information about the victims (C) to come forward, even if they want to do so urged (D).
Options :

1. Only A-B

2. Both A-C & B-D

3. Only B-C

4. Only A-D

5. The sentence is correct

Answer : Both A-C & B-D

Question No. 16

Global leaders, including (A) from India and China called (B) upon parties at the Madrid climate
conference to moving on (C) the Doha Amendment to the Kyoto Protocol and close pre-2020
emission gaps before ratify (D).

Options :

1. Only A-B

2.0nly C-D

3. Both A-C & B-D

4. Only A-C

5. The sentence is correct

Answer : Only C-D

Question No. 17

Ensuring tougher ensure (A) for vehicle manufacturing companies to legislations (B) standards
and quality vehicle encourage (C) with tax benefit perks will body (D) innovation and competition.
Options :

1. Only A-D

2. Both A-D & B-C

3. Only A-B

4. Both A-B & C-D

5. The sentence is correct

Answer : Both A-B & C-D
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Direction:- In the given passage, there are blanks, each of which has been numbered.
Against each five words are suggested, one of which fits the blank appropriately. Find out

the appropriate word in each case.

Scientists have long __ (6) __ the incredible diversity within a species. But they thought it reflected
evolutionary changes that unfolded imperceptibly, over millions of years. That _ (7) _ between
populations within a species was enforced, according to Ernst Mayr, the great evolutionary biologist
of the 1940s, when a population was separated from the rest of the species by a mountain range or
a desert, preventing breeding across the divide over geologic scales of time. Without the
separation, gene flow was __ (8)__ . But as the separation persisted, the isolated population grew
apart and speciation occurred.

In the mid-1960s, the biologist Paul Ehrlich — author of The Population Bomb (1968) — and his
Stanford University colleague Peter Raven challenged Mayr’s ideas about speciation. They had
__(9)__ checkerspot butterflies living in the Jasper Ridge Biological Preserve in California, and it
soon became clear that they were not examining a single population. Through years of capturing,
marking and then recapturing the butterflies, they were able to prove that within the population,
spread over just 50 acres of suitable checkerspot habitat, there were three groups that rarely
interacted _ (10)__ their very close proximity.

Among other ideas, Ehrlich and Raven argued in a now classic paper from 1969 that gene flow was
notas _ (11)__ and ubiquitous as Mayr and his cohort maintained, and thus evolutionary
divergence between neighbouring groups in a population was probably common. They also
__(12)__ that isolation and gene flow were less important to evolutionary divergence than natural
selection (when factors such as mate choice, weather, disease or predation cause better-adapted
individuals to survive and pass on their successful genetic traits). For example, Ehrlich and Raven
__(13)__that, without the force of natural selection, an isolated population would remain unchanged

and that, in other scenarios, natural selection could be _ (14)__ enough to _ (15)__ gene flow.
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Question No. 18

Choose the most appropriate word.

Options :

1. Chosen

2. Recognized
3. Imitated

4. Grounded

5. None of these

Answer : Recognized

Question No. 19

Choose the most appropriate word.

Options :

1. Uniformity

2. Qualities

3. Divergence
4. lllusion

5. None of these

Answer : Divergence

Question No. 20

Choose the most appropriate word.

Options :

1. Relentless

2. Accurate

3. Persisted

4. Distracted

5. None of these

Answer : Relentless

ixam/
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Question No. 21

Choose the most appropriate word.

Options :

1. Sighted

2. Took

3. Studied

4. Demanded

5. None of these

Answer : Studied

Question No. 22

Choose the most appropriate word.

Options :

1. In spite

2. Even

3. Perhaps

4. Despite

5. None of these

Answer : Despite

Question No. 23

Choose the most appropriate word.

Options :

1. Unforeseen

2. Predictable

3. Comprehensible
4. Expandable

5. None of these

Answer : Predictable
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Question No. 24

Choose the most appropriate word.

Options :

1. Concealed

2. Surrendered
3. Asserted

4. Examined

5. None of these

Answer : Asserted

Question No. 25

Choose the most appropriate word.

Options :

1. Reminded

2. Implicated

3. Decided

4. Suggested

5. None of these

Answer : Suggested

Question No. 26

Choose the most appropriate word.

Options :

1. Changed

2. Basic

3. Huge

4. Strong

5. None of these

Answer : Strong

ixam/

6

12 ixamBee Offers Online Course for Preparation of IBPS,RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams
For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call)




i ,
IBPS SO 2020 (RA/LO) Prelims Previous Year Paper IXam/ges

Question No. 27
Choose the most appropriate word.
Options :

1. Release

2. Yield

3. Preserve

4. Overpower

5. None of these

Answer : Overpower

Direction:- Rearrange the given five sentences (A),(B),(C),(D) and (E) in the proper sequence
so as to form meaningful paragraphs and then answer the given questions.

A. This definition includes the skills to make use of ICT as an important element.

B. More than just accessibility, individuals need to know how to make use of the information and
communication tools once they exist within a community.

C. More precisely, it is an economic and social inequality with regard to access to, use of, or impact
of information and communication technologies (ICT).

D. Research shows that the digital divide is more than just an access issue and cannot be
alleviated merely by providing the necessary equipment.

E. The term digital divide refers to the gap between those who have ready access to computers

and the Internet, and those who do not.

Question No. 28

Which of the following will be the THIRD statement after the rearrangement?
Options :

1.C

2.A

3.E

4.D

5.B

Answer: A
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Question No. 29
Which of the following will be the FOURTH statement after the rearrangement?
Options :

1.D
2.B
3.C
4. A
5. E

Answer : D

Question No. 30
Which of the following will be the SECOND statement after the rearrangement?
Options :

1. A
2.B
3.C
4.D
5. E

Answer: C

Question No. 31
Which of the following will be the FIFTH / LAST statement after the rearrangement?
Options :

1.E
2.D
3.C
4.B
5. A

Answer : B
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Question No. 32

Which of the following will be the FIRST statement after the rearrangement?
Options :

1. A

2.D

3.C

4. E

5.B

Answer : E

Direction:- The following questions have three blanks, each blank indicating that something
has been omitted. Choose the set of words for all blanks that best fits in the context of the

sentence.

Question No. 33
of climate change are that it’s going to get worse it gets better.
Options :
1. Vagaries, such, before
2. Problem, such, or
3. Issues, these, and
4. Effect, such, as
5. None of these

Answer : Vagaries, such, before

Question No. 34

When with the future, you can only deal in __ ; and even those are very
Options :

1. Experience, problem, direct

2. Catching, chances, expected

3. Dealing, probabilities, dodgy

4. Handling, chances, natural

5. None of these

Answer : Dealing, probabilities, dodgy
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Question No. 35
It's quite to be frightened because the summers will be much worse 10 years
now and much worse again 10 years that.
Options :

1. Risky, then, now

2. Appropriate, from, after
3. Exact, before, after

4. Soothing, than, later

5. None of these

Answer : Appropriate, from, after

Directions: In each question below, a sentence is given with a part of it printed in bold type.
That part may contain a grammatical error. Each sentence is followed by phrases A), B), C)
and D). Find out which phrase should replace the phrase given in bold to correct the error, if
there is any, and to make the sentence grammatically meaningful and correct. If the

sentence is correct as it is and ‘No correction is required’, mark E) as the answer.

Question No. 36

By the setting of the second wave of covid-19 , there is round the corner, a growth in the need
for ventilators and related interventions.

Options :

1. By the setting up of the second wave of covid-19

2. With the setting in of the second wave of covid-19

3. Though the setting on of the second wave of covid-19

4. Because of the setting of the second wave of covid-19

5. No correction required

Answer : With the setting in of the second wave of covid-19
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Question No. 37

Despite for India being touted as the “vaccine superpower of the world, we are faced with
frightening spectacle of vaccine shortages, with several vaccine centres reporting very limited
stock.

Options :

1. Desperate India being touted as

2. Despite for India being tutored as

3. Despite India being touted as

4. Despite for India be touted as

5. No correction required

Answer : Despite India being touted as

Question No. 38

The messages conveyed to the top General was unusually blunt and could be seen as a breach
of the conservative 10-nation bloc’s bedrock principle forbidding member states from interfering in
each other’s domestic affairs.

Options :

1. unusually blunt and could be seen as a breach for the conservative

2. unusually blunt and could seen as a breach of the conservative

3. unusually blunted and could be seen as a breach of the conservative

4. unusually blunt and could saw as a breach of the conservative

5. No correction required

Answer : No correction required

Question No. 39

Regulatory body Irdai directs insurance companies to have taken appropriate actions against
network hospitals denying cashless facilities to Covid-19 patients.

Options :

1. to be taken appropriate actions for

2. to been taken appropriate actions against

3. to take appropriate actions against

4. to took appropriate actions in

5. No correction required

Answer : to take appropriate actions against
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Question No. 40

Lenders said, unlike last year when they got additional credit lines and relief in the form of a
moratorium, small businesses do not have cash to see them to an elongated shutdown.
Options :

1. to see them through an elongated shutdown

2. to see them to an elongate shutdown

3. to see them for an elongated shutdown

4. to seem an elongated shutdown

5. No correction required

Answer : to see them through an elongated shutdown
Directions: Read the passage carefully and answer the following questions.

I. Three teenagers—two soldiers and a civilian—were among the 50 million or more estimated
casualties of the 1918 influenza A pandemic. However, unlike most people who were killed by the
virus, the lungs of the three were saved, preserved in formalin for more than one hundred years.
Now, according to a preprint uploaded to bioRxiv on May 14, these organs are providing genetic
clues as to why the virus took so many lives, Science reports.

The 1918 pandemic, a zoonotic disease thought to have jumped into people from birds, was one of
the deadliest pandemics on record. Especially lethal were the second and third waves of cases,
which occurred starting in the fall of that year. It's likely that variants of the virus played a role in the
differing damage caused by each wave. Unfortunately, obtaining viral RNA sequences from
samples that old is technically fraught. In fact, until recently, extracting RNA from century-old
specimens would have been considered “a fantasy,” Hendrik Poinar, an ancient DNA scientist at
McMaster University who was not involved in the study, tells Science.

Even obtaining samples is hard, preprint co-author Michael Worobey, an evolutionary biologist at
the University of Arizona, tells Science. Still, the team was able to secure a total of 13 lung tissue
samples from people who died between 1900 and 1931 from specimens that were being housed in
the Berlin Museum of Medical History and the pathology collection of the Natural History Museum

in Vienna; three of them, all from 1918, contained influenza RNA.
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While the RNA was highly fragmented, the team was able to reconstruct between 60 and 90
percent of the genomes of the viruses that killed the two soldiers, and the entire genome of the
virus that killed the civilian. The new sequences are all from the first wave of the pandemic, and
when compared with the previously described strains from later on in the pandemic, they hint at
how the virus may have become deadlier. For example, the two partial genomes from the soldiers
contain sequences that are more “bird-like,” reports Science—a sign that early versions of the virus
may have had more difficulty infecting people.
Most telling, though, was the whole genome. In cell cultures, the complex from the first wave virus
constructed RNA at roughly half the efficiency of the virus from a later wave.
“The fact that you can test, in vitro, the effects of an ‘extinct’ strain has huge implications in
understanding evolution of virulence and possible countermeasures should we encounter another
flu epidemic,” Poinar tells Science.
“It's absolutely fantastic work,” he adds. “The researchers have made reviving RNA viruses from
archival material an achievable goal.”

[From Opinion, The Scientist, 18 May 2021]

Question No. 41
What part of the body of people who died due to 1918 influenza A pandemic was preserved?
Options :

1. lungs
2. heart
3. blood
4. DNA
5. All of these

Answer : lungs
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Question No. 42
What were the thoughts about the spread of the 1918 pandemic?
Options :

1. It was spread from people to animals

2. It jumped to birds from people

3. Some wild animals must have been responsible for the spread of the disease.
4. It was thought to have spread from birds to people.

5. It was thought that the virus was created artificially.

Answer : It was thought to have spread from birds to people.

Question No. 43
What must be obtained from the virus to conduct the study?
Options :

1. DNA

2. proteins

3. RNA

4. evolutionary details
5. All of these
Answer : RNA

Question No. 44
What percent of the genome of the virus that killed the civilian was reconstructed by the scientists?
Options :

1. 60%

2.70%

3. 80%

4. 90%

5. 100%
Answer : 100%
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Question No. 45

To what was the polymerase complex from the “whole genome” compared to?
Options :

1. polymerase complex resurrected from a previously published virus strain.
2. polymerase complex constructed from 3 people who died in Alaska in 1918.
3. complex from the first wave virus

4. RNA of people who died due to influenza A pandemic

5. None of these

Answer : polymerase complex resurrected from a previously published virus strain.

Direction:- Read the following passage carefully and answer the questions given below it.
Certain words/ Phrases have been printed in bold to help you locate them while answering
some of the questions.

Social audio apps are a new kind of platforms that have gained prominence after Clubhouse
became popular. The app was catapulted to fame after it hosted Tesla’s CEO Elon Musk, and
Facebook’s Mark Zuckerberg in separate sessions. Last March, Clubhouse was launched in beta
as an invitation-only application, and three months later, it was generally made available to all iOS
users.

Since June, the app has enabled several people to connect, congregate and discuss on its
platform. Unlike other social media platforms, Clubhouse and its tribe of audio apps provide their
users, fatigued by video-calls and meetings during the pandemic, a chance to connect sans
camera. They help drive real-time voice conversations a la erstwhile conference calls. According to
app analytics firms App Annie, Clubhouse app was downloaded over 9.6 million times in February

alone.
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While Clubhouse is the first app of its kind, other platforms are starting to experiment their own
version of audio apps. Facebook introduced new audio and podcast features to its app last month.
Reddit launched ‘Reddit Talk’ last month, and messaging app Telegram rolled out a similar feature.
Twitter has launched its own audio feature. Called Spaces, the sub-platform is available within the
Twitter app, alongside its recently launched Fleets feature. The micro-blogging site has a slightly
different approach when it comes to how people can join conversations on Spaces. Unlike
Clubhouse’s invite-only chat rooms, Spaces allows Twitter users to join impromptu discussions
hosted by those they follow. On the Fleets sections, they will be able to view active discussion that
they can click to join and listen in. The intimacy of voice adds a layer of empathy to conversations,
making way for nuance, emotion, and meaning that are often lost in text.

Audio apps have been adopted by a range of users, including stock traders, content creators and
musicians, as the medium is convenient and flexible to interact with others globally. These video-
free conversations cuts down the anxiety and pressure of being on camera. Moreover, according to
a Reddit blog, live audio talk can be “more fun” than video or text chats. To this end, the platform
will soon allow users to customise the look of the interface through emojis, background wallpapers
and speaker profiles.

India is said to be an early adopter in audio apps with a fifth of users keen on using the technology
in its current form, according to a study by research firm YouGov. Both Clubhouse and Twitter
Spaces are already seeing growth amongst Indian users, ranging from screenwriters to
entrepreneurs. Several Indian startups, including Fireside, Bakstage and Headfone, too, have
rolled out audio-only chat apps.The presence of different languages and a rich oral tradition in
India shows “huge potential” for the growth of audio interactions.

Just like in contemporary social media, audio apps also face content moderation challenge. The
explosive growth has drawn scrutiny over how the apps will handle problematic content, from hate
speech to harassment and misinformation. Moreover, tools to detect problematic audio content lag
behind those used to identify text, further deepening the crisis, Reuters had reported.

Social apps will also have to focus on how their users can monetise from the platforms, app
analytics firm Sensor Tower noted in a blog post. Twitter Spaces plans to allow hosts to sell tickets

on the platform, paving way for subscription-based audio shows.

[From Technology, The Hindu, 31 May, 2021]
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Question No. 46

Which of the following sentences about Clubhouse is true?
(i) It is a type of social audio app.

(ii) it was an invitation-only application when launched.

(iii) it was made available to all iOS users two months after it was launched.
(iv) it allows its users to connect with their own camera.
Options :

1. Onlyiii

2. iandii

3. i and iii

4.i,iiand iv

5. All are correct

Answer : i and ii

Question No. 47

What is App Annie?

Options :

1. the parent company of Clubhouse.

2. an app analytics firm

3. an audio function released by Twitter.
4. a social audio app like Clubhouse.

5. Clubhouse’s analytics wing

Answer : an app analytics firm

Question No. 48

Which of the following platforms did not introduce an audio app feature according to the passage?
Options :

1. Facebook

2. Fleets

3. Twitter

4. Reddit

5. All of these platforms have introduced an audio app feature.

Answer : Fleets
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Question No. 49
Why are audio apps becoming popular?
Options :

1. arange of users, including stock traders, content creators and musicians think that using audio
as the medium of communication is convenient and flexible to interact with others globally.

2. it shoots up the anxiety and pressure of being on camera.

3. according to a blog, live text chats are more fun than audio or video chats.

4. the platform has allowed users to customise the look of the interface, which makes it much more
interesting.

5. All of these

Answer : a range of users, including stock traders, content creators and musicians think
that using audio as the medium of communication is convenient and flexible to interact with

others globally.

Question No. 50

Which of the following Indian startups have rolled out audio-only chat apps, according to the
passage?

(i) Fireside

(ii) YouGov

(iii) Bakstage

(iv) Headfone

Options :

1. i andiii

2. ii, il and iv
3.1, iiiand iv
4_iii and iv
5.1, ii, iiiand iv

Answer : i, iii and iv
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Reasoning Aptitude

Direction:- Study the following information carefully and answer the given questions below:
Eight persons C, G, H, A, B, D, F and E are sitting around a circular table. Some of them are facing
inside the table while some of them are facing outside the table. (Note: Facing same direction
means when one of them faces inside then others also faces inside the table. Opposite direction
means when one of them faces inside then the others faces outside the table.) G sits second to the
left of B and both the immediate neighbour of B facing opposite direction. E and F are sitting
opposite and facing each other. A sits exactly between G and D, who facing outside. C sits third to
the left of G. Not more than two persons facing same directions are sitting together. F sits second

to the left of C. G facing opposite direction to that of D. C is not an immediate neighbour of B.

Question No. 51

What is true regarding C?
Options :

1. C is to the immediate left of A
2. C is facing outside the circle.

3. C sits immediate left of D

4. E is sitting third to the right of C
5. None of these

Answer : C sits immediate left of D

Direction:- Study the following information carefully and answer the questions below:-
Point D is 2 km to north of point C. Point G is 8km to north of point H. Point A is 15km to south of
point B. Point C is 8km to east of point B. Point E is 10km to north of point F which is 4km to west

of point G. Point D is 4km to the west of point E.
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Question No. 52
What is the position of point G with respect to point C?
Options :

1. South

2. West

3. South east

4. North

5. None of these

Answer : South east

Direction:- In these questions, a relationship between different elements is shown in the
statements. These statements are followed by four conclusions numbered I, Il. lll and IV.

Give answer

Question No. 53

Statements: Y>F<O<P,F2U<T<K
Conclusions:

LY>P

Il.K<F

m.o>T

IV.U<P

Options :

1. if only conclusion Il and Il follows
2. if only conclusion Il follows

3. None follows

4. if only conclusion Il follows

5. if only conclusion | and IV follow

Answer : None follows
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Question No. 54

Statements: C<N<L<E, M<F<N>J
Conclusions:

.C=J

II.LN<E

n.L>F

IV.E=N

Options :

1. if only conclusion Il and Ill follows
2. if only conclusion | follows

3. All follows

4. if only conclusion | and Ill follows
5. if only conclusion IV follow

Answer : if only conclusion Il and Il follows

Question No. 55
Statements: IS J=K<L<M,GzH=I1=T
Conclusions:

.J>G

h.M=H

. M>H

IV.H<J

Options :

1. If only conclusion Il and Il follows
2. If only conclusion 1, Il and Il follows
3. If only conclusion Il follows

4. If only conclusion | and IV follows
5. If only conclusion IV follow

Answer : If only conclusion lll follows

ixam/
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Question No. 56

Statements: A>B=C<G,F=E=2D>C
Conclusions:

LE=2G

I.LE>B

n.G=F

IV.B<D

Options :

1. If only conclusion Il and Il follows
2. If only conclusion I, Il and Il follows
3. If only conclusion Il follows

4. If only conclusion Il and IV follows
5. If only conclusion IV follow

Answer : If only conclusion Il and IV follows

Question No. 57

Statements: K<L<M=N,P=20O=N
Conclusions:

.O>L

II.O=L

. P=K

IV.O =K

Options :

1. If only conclusion Il and Il follows
2. If only conclusion | or Il and Il follows
3. If only conclusion | follows

4. If only conclusion | and IV follows
5. If only conclusion Il follow

Answer : If only conclusion I or Il and Il follows

ixam/
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Question No. 58

K, Q, L and M are four friends. K is the eldest in the group but he is not the poorest, L is the richest
but not the eldest, Q is elder than M but he is not elder than K or L, K is richer than Q but he is not
richer than M. How the four persons can be arranged in decreasing order of their age and money.
Options :

1. QLMK, MLQK

2. KLQM, LMKQ

3. KQLM, LKMQ

4. KLQM, KQML

5. MLKQ, LMQK

Answer : KLQM, LMKQ

Direction:-

Statement I: F is 2 km towards the south of E. K'is 5 km towards the west of F. X is 2 km towards
the north of K. Y is 3 km towards the east of E and Z is 4 km towards the east of Y.

Statement II: X is 2 km towards the north of L. K'is 4 km towards the west of L. S is 1 km towards
the south of K. M is 2 km towards the west of S. Y is 3 km towards the north of M and Z is 2 km
towards the north of K.

Question No. 59

Do the points X, Y, and Z lie in a straight line?

Options :

1. If the data in statement | alone is sufficient to answer the question, while the data in statement Il
alone is not sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question, while the data in statement |
alone is not sufficient to answer the question.

3. If the data in either statement | alone or in statement Il alone are sufficient to answer the
question.

4. If the data given in both | and Il together are not sufficient to answer the question.

5. If the data given in both the statements | and Il together are sufficient to answer the question.
Answer : If the data in either statement | alone or in statement Il alone are sufficient to

answer the question.
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Direction:- There are 6 people P, Q, R, S, T and U each lives on a different floor of a 6 storey
building having 6 floors numbered 1 to 6 (the ground floor is numbered 1, the floor above it,

number 2 and so on and the topmost floor is numbered 6).

Question No. 60

Who among the person lives on the 1st floor?

Options :

1. If the data in statement | alone is sufficient to answer the question, while the data in statement Il
alone is not sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question, while the data in statement |
alone is not sufficient to answer the question.

3. If the data in either statement | alone or in statement Il alone are sufficient to answer the
question.

4. If the data given in both | and Il together are not sufficient to answer the question.

5. If the data given in both the statements | and Il together are sufficient to answer the question.
Answer : If the data given in both the statements | and Il together are sufficient to answer the

question.

Direction:- There are 6 people A,B,C,D,E and F each lives on a different floor of a 6 storey
building having 6 floors numbered 1 to 6 (the ground floor is numbered 1, the floor above it,

number 2 and so on and the topmost floor is numbered 6). All person like different colours.

Question No. 61
Who lives on the 1st floor and which colour he likes?
Options :

1. If the data in statement | alone is sufficient to answer the question, while the data in statement |l
alone is not sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question, while the data in statement |
alone is not sufficient to answer the question.

3. If the data in either statement | alone or in statement Il alone are sufficient to answer the
question.

4. If the data given in both | and |l together are not sufficient to answer the question.

5. If the data given in both the statements | and Il together are sufficient to answer the question.
Answer : If the data given in both the statements | and Il together are sufficient to answer the

question.
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Direction:- Study the following information carefully and answer the given questions.
In a certain code language,

‘ later serving absence looks’ is coded as ‘plie fb wc’

‘ reactions ago serving absence’ is coded as ‘fb dk st ie’

‘ reactions ruling absence looks’ is coded as ‘cd wc fb dk’

‘ later looks focus admit’ is coded as ‘pl wc zx yx’

Question No. 62

Which of the following is the code for “ago’?
Options :

1. we

2. pl

3. dk

4. st

5. None of these

Answer : st

Question No. 63
Which of the following word is coded as ‘dk’?
Options :

1. reactions

2. absence

3. ruling

4. looks

5. None of these

Answer : reactions
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Question No. 64
What may be the code of ‘ ruling named’?
Options :

1. stie
2. cd dk
3. iepl
4. fb yx
5. cd gw

Answer : cd qw

Question No. 65
Which of the following code is coded for ‘ serving’ ?
Options :

1. zx
2. dk
3. ie
4. cd
5. None of these

Answer : ie

Question No. 66
What will be the code of * admit’ ?
Options :

1. yx

2. dk

3. zx

4. Either (1) or (3)

5. None of these
Answer : Either (1) or (3)
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Directions: Read the following information carefully to give the answer to the given
questions.

A number sorting machine when given an input line of numbers, it rearranges them in a particular
manner step by step as indicated below till all the number are arranged. Given below is an

illustration of this arrangement.

INPUT: 25 32 69 72 84 13 28 56

Step I: 13 25 32 69 72 84 28 56

Step 1l: 13 32 2569 72 84 28 56

Step 1ll: 13 32 25 72 69 84 28 56

Step IV: 13 32 25 72 28 69 84 56

Step V: 13 32 25 72 28 56 69 84

Step VI: 13 32 25 72 28 56 84 69

And step VI is the last step of the above input. As per the rules followed in the above steps, find out

the appropriate step for the given input.
INPUT: 52 63 42 71 94 59 12 32

Question No. 67

What is the sum of numbers obtained in step lll, which is second from left end and second from
right end in the same step?

Options :

1.120

2.126

3. 91

4. 106

5. None of these

Answer : 126
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Question No. 68
What is the sum of the numbers which is at the extreme left end and extreme right end in step IV?
Options :

1.74
2.72
3. 60
4.71
5. None of these

Answer : 71

Question No. 69
Which step will be this “12 32 52 63 42 71 94 59” of the given input?
Options :

1. Step |

2. Step 1l

3. Step IV

4. Step |l

5. None of these

Answer : Step Il

Question No. 70
Which number is third to the right of the number “12” in step IV?
Options :

1. 71
2.52
3.63
4.32
5. None of these

Answer : 52
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Question No. 71
Which number is there in between “52 and 63” of step IV?
Options :

1.71
2.94
3.32
4.42
5. None of these

Answer : 71

Direction:- In each of the questions below are given some statements followed by three
conclusions numbered |, Il and Ill. You have to take the given statements to be true even if
they seem to be ta variance from commonly known facts. Read all the conclusions and then
decide which of the given conclusions logically follows from the given statements

disregarding commonly known facts.

Question No. 72

Statements:

All dogs are tigers

Some tigers are rats

All rats are squirrel

Conclusion:

I. Some squirrel are tigers

[I. Some squirrel are dogs

[ll. Some rats are tigers

Options :

1. If only conclusion | follows

2. If only conclusion | and 11l follows
3. If only conclusion Il and Il follows
4. All 1, 1l and 11l follows

5. None of these

Answer : If only conclusion I and Il follows
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Question No. 73

Statements:

Some Salt are Sugar.

All Sugar are Bun.

Some Salt are Ice.

No Ice is Bun.

Conclusions:

I. Some Ice can never be Sugar.

[I. All Salt Can never be Bun.
Options :

1. If only conclusion | follows

2. If only conclusion Il follows

3. If either conclusion | or Il follows
4. If neither conclusion | nor Il follows
5. If both conclusion | and Il follows

Answer : If both conclusion | and Il follows

Question No. 74

Statements:

Some parrots are hens.

A few swans are not crow.

A few crow are not birds.

All parrots are birds.

Conclusion:

I. Some birds being swans is a possibility.
II. All hens are parrots.

Options :

1. If only conclusion | follows

2. If only conclusion Il follows

3. If either conclusion | or Il follows
4. If neither conclusion | nor Il follows
5. If both conclusion | and Il follows

Answer : If only conclusion I follows

ixam/
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Question No. 75

Statements:

Some sheets are paper.

Only a few paper are erasers.

All pins are erasers.

Conclusions:

I. All erasers are paper.

II. All sheets can be erasers.
Options :

1. If only conclusion | follows

2. If only conclusion Il follows

3. If either conclusion | or Il follows
4. If neither conclusion | nor Il follows
5. If both conclusion | and Il follows

Answer : If only conclusion Il follows

Direction:- In each of the questions below is given a statement followed by two assumptions
numbered | and Il. An assumption is something supposed or taken for granted. You have to
consider the statement and the following assumptions and decide which of the assumptions
is implicit in the statement.

Give your answer as

Question No. 76

Statement :“As most of the offices are allowing employees to work from home, we are now
promoting our easy-towear WFH collection”-Said Aditi a fashion designer

Assumptions:

I) People like to wear easy while working from home.

[)Some offices may not be allowing employees to work from home.
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Options :
if only assumption | is implicit

if only assumption Il is implicit

1.

2.

3. if either | or Il is implicit
4. if neither | nor Il is implicit
5.

if both | and Il are implicit

Answer : if both I and Il are implicit

Question No. 77

Statement: Masha is the most famous doll among kids in India
Assumptions:

[) The popularity of all the dolls in India is known.

II) The manufacturing of no other dolls in India is as large as 'Masha’'.
Options :

1. if only assumption | is implicit

2. if only assumption Il is implicit

3. if either | or Il is implicit

4. if neither | nor Il is implicit

5. if both | and Il are implicit

Answer : if only assumption | is implicit

Question No. 78

Statement :Walk into an empty residential space, and your mind automatically begins to wander;
where would the sofa go, and what about the dining set?

Assumptions:

I) No home is complete without furniture.

I)Sofa & Dining table are a must for an empty residential space.
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Options :

1. if only assumption | is implicit
2. if only assumption Il is implicit
3. if either | or Il is implicit

4. if neither | nor Il is implicit

5. if both | and Il are implicit

Answer : if both I and Il are implicit

Direction:- Below in each of the questions are given two statements | and II.

These statements may be either independent causes or may be effects of independent causes or a
common cause. One of these statements may be the effect of the other statements.

Read both the statements and decide which of the following answer choice correctly depicts the

relationship between these two statements.

Question No. 79

Statements:

I) Members of 5 PSU Banks went on strike in protest again privatization.
II) AIBOC, Bank Union went on strike in protest against wage revision.
Options :

1. If statement | is the cause and statement Il is its effect.

2. If statement Il is the cause and statement | is its effect.

3. If both the statements | and Il are independent causes.

4. If both the statements | and Il are effects of independent causes.

5. If both the statements | and Il are effects of some common cause.

Answer : If both the statements | and Il are effects of independent causes.
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Question No. 80

Statements:

| )Respiratory diseases and lung infections are common consequences of exposure to fumes from
cooking in rural households.

II) Household pollutionreleases black carbon which is a serious threat to the melting of glaciers and
climate change .

Options :

1. If statement | is the cause and statement Il is its effect.

2. If statement |l is the cause and statement | is its effect.

3. If both the statements | and Il are independent causes.

4. If both the statements | and Il are effects of independent causes.

5. If both the statements | and Il are effects of some common cause.

Answer : If both the statements | and Il are effects of some common cause.

Direction:- Study the following information carefully and answer the questions given below:
Seven persons lives on a seven-storey building such that the ground floor is numbered as 1 and
floor just above is numbered as 2 and so on till the topmost floor which is numbered as 7. Each of
them likes different colours. U lives immediately above T and immediately below P. S does not like
Blue. U lives on an odd-numbered floor. The person who likes Black lives on the fourth floor. Less
than three persons live above Q who likes Pink. V lives above the one who likes Green and below
the one who likes Yellow. The person who likes White lives below the person who likes Red. Four
persons live between the one who likes White and the one who likes Blue. R lives above Q but

does not like Blue. Two persons live between Q and the one who likes Red.

Question No. 81

Who among the following likes Red?
Options :

1.V

2.T

3.R

4.8

5. None of these

Answer: T
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Question No. 82
Which of the following is not true regarding T?
Options :

1. T likes Green

2. T lives above P

3. T lives on 2nd floor
4. Both 1and 2

5. Both 2 and 3
Answer : Both 1 and 2

Question No. 83
Which of the following is correctly matched?
Options :

1. P- Blue
2. U- Green
3. R- Black
4.V-Red
5. T- White

Answer : U- Green

Question No. 84
How many persons live above the one who likes White?
Options :

1. One

2. None

3. More than three
4. Two

5. Three

Answer : More than three
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Question No. 85
Four of the following five are alike in a certain way and hence form a group which of the following
does not belong to the group?

Options :
1. T- White
2. R- Blue
3. P- Green
4. U- Red
5. V- Black

Answer : V- Black

Direction:- Read the given information carefully and answer the questions given below:

A certain number of Persons are sitting a row facing north. The number of persons sitting between
Aruna and Geeta is same as between Geeta and Diva. Not less than four people sit between Aruna
and Diva. Eight persons are sitting to the left of Babita. Heena sits immediate left of Geeta. Both
Aruna and Diva sit left of Babita. Charu sits third to the right of Farah and two persons sit between
her and Emilie. Not less than ten persons sit between Diva and the one who sits immediate right to

Emilie. Only one person sit between Babita and Farah.

Question No. 86
How many persons are sitting in the row?
Options :

1.19
2.22
3.18
4. 21
5. None of these

Answer : 18
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Question No. 87
Who sits second to the left of Babita?

Options :

1. Diva

2. Charu

3. Can’t be determined
4. Aruna

5. Geeta

Answer : Diva

Question No. 88
How many persons are sitting to the left of Aruna?
Options :

1. One
2. Two
3. Three
4. Four
5. None

Answer : None

Question No. 89
How many persons are sitting between Charu and Emilie?
Options :

1. One

2. Two

3. Three

4. Four

5. More than four

Answer : Two
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Question No. 90
What is the position of Heena with respect to Babita?
Options :

1. Second to the right
2. Fourth to the left
3. Fifth to the left

4. Fifth to the right

5. None of these

Answer : None of these

Direction:- Study the following information carefully and answer the given questions.
Twelve people are sitting in two parallel rows containing six people each such that they are
equidistant from each other. In row 1: S1, S2, S3, S4, S5 and S6 are seated and all of them are
facing south. In row 2: N1, N2, N3, N4, N5 and N6 are seated and all of them are facing north.
Therefore, in the given seating arrangement, each member seated in a row faces another member
of the row.

S4 sits third to the right of S2, either S4 or S2 sits at an extreme end of the line. The one who faces
S2 sits second to the right of N5. Two people sit between N2 and N6, neither N2 nor N6 sits at
extreme end of the line. The immediate neighbour of N2 faces the person who sits third to the left
of S1. S3 and S5 are immediate neighbours. N3 sits second to the left of N1. S5 does not face the

immediate neighbour of N2.

Question No. 91
How many persons are sitting between N3 and N4?
Options :

1.3
2.4
3.2
4.1
5. None

Answer : 4
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Question No. 92
Who sits opposite to N5?
Options :

1. $1
2.52
3.S3
4.54
5.S5

Answer : S5

Question No. 93
Which pair is sitting at the extreme ends?
Options :

1.S4 -S5

2. N3-N5

3. N2-N6

4. S6-S4

5. None of these

Answer : None of these

Question No. 94
If N3 is related to S6 and N5 is related to S3. In the same way N1 is related to whom?
Options :

1. 82
2. 51
3.54
4.85
5. None of these

Answer : S5
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Question No. 95

If in the word BACKBONE all the consonants are replaced by the next letter and all the vowels are
replaced by the previous letter and then arranged in alphabetical order, which will be fifth from the
right end?

Options :

1.D

2.0

3.L

4. N

5. None of these

Answer : D

Direction:- Study the following information carefully and answer the given questions.
Twelve people are sitting in two parallel rows containing six people each such that they are
equidistant from each other. In row 1: S1, S2, S3, S4, S5 and S6 are seated and all of them are
facing south. In row 2: N1, N2, N3, N4, N5 and N6 are seated and all of them are facing north.
Therefore, in the given seating arrangement, each member seated in a row faces another member
of the row.

S4 sits third to the right of S2, either S4 or S2 sits at an extreme end of the line. The one who faces
S2 sits second to the right of N5. Two people sit between N2 and N6, neither N2 nor N6 sits at
extreme end of the line. The immediate neighbour of N2 faces the person who sits third to the left
of S1. S3 and S5 are immediate neighbours. N3 sits second to the left of N1. S5 does not face the

immediate neighbour of N2.

Question No. 96

Who is sitting opposite to the immediate left of N27?
Options :

1. 91

2.83

3.82

4.S5

5.54

Answer : S5
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Question No. 97

Which pair is sitting opposite to each other?
Options :

1. GH

2. AB

3.CD

4. GE

5.DB
Answer : AB

Question No. 98
What is the position of D with respect to F?
Options :

1. Second to the left

2. Third to the right

3. Immediate right

4. Immediate left

5. Can’t be determined
Answer : Immediate right

Question No. 99

How many persons are sitting between B and E, when counted from the left of B?
Options :

1.2

HowNDN
- w N

5. None
Answer : 2

Question No. 100

Four of the given options are alike is a way, choose the odd one.
Options :

1.E

Ao
mTO ®

5.
Answer: H
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General Awareness

Question No. 101

Which city will host the Summer Olympics 20247
Options :

1. Los Angeles

2. Paris

3. Rome

4. Beijing

5. London

Answer : Paris

Question No. 102
Taka is the currency of
Options :

1. Bangladesh

2. Nepal

3. Maldives

4. Myanmar

5. Sri Lanka

Answer : Bangladesh

Question No. 103

Inflation refers to the state in which the value of currency
Options :

1. Increases

2. Decreases

3. Remain same

4. Fluctuate constantly

5. None of these

Answer : Decreases
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Question No. 104
What is the full form of MSP?

Options :

1. Maximum Support Price
2. Minimum Support Price
3. Minimum Support Pay

4. Maximum Support Pay
5. Minimum Supporting Pay

Answer : Minimum Support Price

Question No. 105
Who is the current President of New Development Bank?

Options :

1. K. V. Kamath

2. Marcos Prado Troyjo

3. Marcos Cintra

4. Yu Yongding

5. Rogério Simonetti Marinho

Answer : Marcos Prado Troyjo

Question No. 106
What was India rank in the Global Hunger Index 20207

Options :
1. 85th

2. 87th
3. 94th
4. 105th
5. 112th

Answer : 94t
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Question No. 107
What is the population density of India as per Census of India 20117

Options :

1. 362 persons per square kilometer
2. 377 persons per square kilometer
3. 382 persons per square kilometer
4. 394 persons per square kilometer
5. 398 persons per square kilometer

Answer : 382 persons per square kilometer

Question No. 108
RTGS is the mechanism for

Options :

1. For GST

2. Filing Tax

3. Online Shopping
4. Fund Transfer
5. None of these

Answer : Fund Transfer

Question No. 109
What is the capital of Azerbaijan?

Options :
1. Yerevan
2. Baku

3. Ankara
4. Thilisi

5. Tashkent

Answer : Baku
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Question No. 110
Which country will remain in the Grey List of Financial Action Task Force (FATF) till February

20217

Options :

1. Syria

2. Pakistan

3. North Korea
4. Russia

5. Israel

Answer : Pakistan

Question No. 111

What are the voting rights (in %) of India in New Development Bank?

Options :
1.17.6
2.19.7
3.20.6
4.21.5

5.22.2
Answer : 20.6

Question No. 112
What is the full form of IMPS?

Options :

1. Intermediate Payment Service
2. Immediate Payment Service

3. Internet Payment Service

4. Interconnected Payment Service
5. Inverse Payment Service

Answer : Inmediate Payment Service
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Question No. 113

What is the full form of NEFT?
Options :

1. Net Electronic Funds Transfer

2. National Electric Funds Transfer
3. Net Electronic Fare Transfer

4. National Electronic Funds Transfer
5. None of these

Answer : National Electronic Funds Transfer

Question No. 114
Which Indian company is at the 1st position in Fortune 500 Indian Companies 2020 list?

Options :
1.10C

2. ONGC

3. Tata Motors
4. RIL

5. SBI
Answer : RIL

Question No. 115

Tarun Gogoi passed away recently. He was the Chief Minister of which Indian state?

Options :

1. Sikkim

2. Assam

3. Nagaland
4. Meghalaya
5. Manipur

Answer : Assam
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Question No. 116

Who is the winner of JCB Prize for Literature 20207

Options :

1. Unni R.

2. S Hareesh

3. Sumesh Chandroth

4. Muttathu Varkey

5. M. T. Vasudevan Nair

Answer : S Hareesh

Question No. 117
What is the number of cities in The World Economic Forum smart cities roadmap?

Options :
1.16
2.25
3. 36
4.49
5. 64

Answer : 36

Question No. 118
The fourth character of PAN represents the of the PAN holder.

Options :

1. Bank Name first letter
2. Name

3. Status

4. Native State code

5. None of these

Answer : Status
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Question No. 119
Pandit Deendayal Petroleum University is situated in

Options :

1. Uttrakhand

2. Gujarat

3. Rajasthan

4. Madhya Pradesh
5. Uttar Pradesh

Answer : Gujarat

Question No. 120

Who will host the World Economic Forum 20217
Options :

1. Singapore

2. Switzerland

3. Austria

4. Thailand

5. Sweden

Answer : Singapore

Question No. 121

The Cabinet Committee on Economic Affairs has approved Continuation and Revamping of the
Scheme for Financial Support to Public Private Partnerships (PPPs) in Infrastructure Viability Gap
Funding (VGF) Scheme till 2024-25 with a total outlay of Rs. cr.

Options :

1. 6,564

2.7,200

3. 8,100

4.9,455

5. 9,555

Answer : 8,100
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Question No. 122
Recently, how many public sector banks has removed by RBI from the Second Schedule of the RBI
Act?

Options :
1.4

2.5

3.6

4.8

5.10

Answer: 6

Question No. 123
Who is the Orange Cap holder in IPL 20207

Options :

1. KL Rahul

2. Hardik Pandya

3. Rishabh Pant

4. Ben Stokes

5. Virat Kohli
Answer : KL Rahul

Question No. 124
Which space agency has operated Hayabusa2, which is an asteroid sample-return mission?

Options :

1. NASA

2. JAXA

3. ESA

4. Roscomos

5. Space.com
Answer : JAXA
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Question No. 125
What was the theme of World AIDS Day 20207
Options :

1. Know your status .

2. Communities make the difference

3. Ending the HIV/AIDS Epidemic: Resilience and Impact
4. Right to health

5. Leadership. Commitment. Impact.

Answer : Ending the HIV/AIDS Epidemic: Resilience and Impact

Question No. 126
Lonar Lake is in
Options :

1. Bihar

2. Rajasthan
3. Maharashtra
4. Karnataka
5. Kerala

Answer : Maharashtra

Question No. 127
Astad Deboo passed away recently. He was a
Options :

1. Environmentalist
2. Dancer

3. Sitar Player

4. Tabla Player

5. Music Director

Answer : Dancer
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Question No. 128
NABARD was established on

Options :
1.1972
2.1982

3. 1989
4.1992

5. 1994
Answer : 1982

Question No. 129
NCLAT was set up in

Options :
1.2013
2.2014
3.2016
4.2018
5.2019
Answer : 2016

Question No. 130
In 2019, which Indian state attracted highest number of domestic tourists?
Options :

1. Uttar Pradesh

2. Himachal Pradesh
3. Uttrakhand

4. Rajasthan

5. Madhya Pradesh

Answer : Uttar Pradesh
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Question No. 131
Swachh Bharat Mission was initiated by the Government of India in
Options :

1. 26 January 2014

2. 15 August 2015

3. 2 October 2014

4. 26 January 2015

5. 2 October 2018
Answer : 2 October 2014

Question No. 132
Ranijitsinh Disale, a primary school teacher from , received the Global Teacher Prize in
2020.

Options :

1. Karnataka
2. Maharashtra
3. Odisha

4. Telangana
5. Goa

Answer : Maharashtra

Question No. 133

What is the full form of PLI?
Options :

1. Product Linked Investment
2. Production Linked Incentive
3. Product Linked Insurance

4. Production Linked Insurance
5. Product Linked Incentive

Answer : Production Linked Incentive
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Question No. 134
Who was conferred the Lifetime Achievement Award by Euromoney Awards of Excellence 20207

Options :

1. Deepak parekh

2. Sashidhar Jagdishan
3. Keki Mistry

4. Aditya Puri

5. Shyamala Gopinath
Answer : Aditya Puri

Question No. 135
How many people was awarded the “Asians of the Year 2020” by The Straits Times for their work
in fighting the COVID-19 pandemic?

Options :
1.5

2.6

3.8

4.9

5.10

Answer: 6

Question No. 136
What is the full form of CVD?

Options :

1. Card Verifying Data

2. Card Verification Data
3. Cash Verification Data
4. Cash Verifying Data
5. Cash Validation Data

Answer : Card Verification Data

59 ixamBee Offers Online Course for Preparation of IBPS,RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams
For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call)




; ) . O
IBPS SO 2020 (RA/LO) Prelims Previous Year Paper IXam gt

Question No. 137
Who is the author of the book ‘Your Best Day Is Today!'?

Options :

1. Anil Kapoor

2. Satish Kaushik

3. Anupam Kher

4. Naseeruddin Shah
5. None of these

Answer : Anupam Kher

Question No. 138
As per the Reserve Bank of India Act, 1934, the RBI is required to organise at least
meetings of the MPC in a year.

Options :
1.3
2.4
3.5
4.7
5.8

Answer : 4

Question No. 139
Footballer Paolo Rossi died recently. He was from

Options :
1. Germany
2. ltaly

3. France
4. Croatia
5. Portugal

Answer : Italy
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Question No. 140
World Children's Day is celebrated annually on
Options :

1. 14 November
2. 20 November
3. 14 October
4. 21 October
5. 27 October

Answer : 20 November

Question No. 141
Which company has launched the nation's first 100 Octane petrol?
Options :

1.10C

2. ONGC

3. HP

4. GAIL

5. Oil India
Answer : 10C

Question No. 142
In 2017, Bharatiya Mahila Bank was merged with
Options :

1. Canara Bank

2. Indian Bank

3. SBI

4. Allahabad Bank
5. Bank of Baroda
Answer : SBI
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Question No. 143

Who has launched a $9 billion vaccine initiative—the Asia Pacific Vaccine Access Facility
(APVAX)—offering rapid and equitable support to its developing member countries?

Options :

1. NDB
2. ADB
3. World Bank
4. AlIB
5. IMF
Answer : ADB

Question No. 144

Which county has emerged as the second biggest source of foreign direct investment (FDI) into
India, during April- September 20207

Options :

1. Mauritius

2.US

3. China

4. Japan

5. Singapore

Answer : US

Question No. 145

[IT-Bombay released its Urban Quality of Life Index, wherein the institution compared the life
quality in various cities all over India. Overall, which city topped the index?

Options :

1. Mumbai

2. New Delhi

3. Bengaluru

4. Chennai

5. Hyderabad

Answer : Mumbai
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Question No. 146

Which organisation has launched State of the Global Climate 2020 according to which the year
2020 is set to be among the three warmest on record?

Options :

1. WTO

2. WMO

3. UNDP

4. UNEP

5. WHO
Answer : WMO

Question No. 147

Jal Jeevan Mission, is envisioned to provide safe and adequate drinking water through individual
household tap connectionsby  to all households in rural India.

Options :

1. 2022

2.2023

3.2024

4. 2025

5. 2030

Answer : 2024

Question No. 148
becomes the first state in the country to fix the floor price for vegetables.
Options :
1. Karnataka
2. Kerala
3. Rajashthan
4. Guajrat
5. Uttar Pradesh

Answer : Kerala
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Question No. 149

The IFSC is an 11-character code. The fifth character in the IFSC is for
Options :

1. City code

2. Bank name

3. Future use

4. Bank branch

5. None of these

Answer : Future use

Question No. 150

Which of the following is not the new economists appointed as member of RBI's Monetary Policy
Committee in October 20207

Options :

1. Shashanka Bhide

2. Jayanth R Varma

3. Ashima Goyal

4. Mridul K. Saggar

5. Bothcandd

Answer : Mridul K. Saggar

*For Solutions please click on the link
https://www.ixambee.com/gmts/f2bff080785c76aa81dbaffce7dealad
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